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. UDJWZLMN�) LQHVW�) RRG�KDV�EHHQ�VXSSO\ LQJ�GHOLFLRXV�DQG�KHDOWK\ �P HDOV
WR�P DMRU�DLUOLQHV�DQG�FDWHUHUV�XQGHU�WKH�/ DQJHUKXL] H�EUDQG�IRU�P RUH
WKDQ�� � �\ HDUV��: H�RIIHU�D�ZLGH�UDQJH�RI�HFRQRP LFDO�DQG�SUHP LXP
P HDO�RSWLRQV��( YHU\ WKLQJ�LV�IUHVKO\ �SUHSDUHG�LQ�RXU�RZQ�NLWFKHQV�DQG
EDNHU\ ��DOO�XQGHU�VWULFW�VXSHUYLVLRQ�RI�7KH�5DEELQDWH�RI�$P VWHUGDP �

7KLV�\ HDU�ZH�SUHVHQW�RXU�EUDQG�QHZ�JOXWHQIUHH�P HDOV��SURGXFHG�LQ�RXU
FHUWLILHG�JOXWHQ�IUHH�NLWFKHQ��$OO�P HQX
V�LQ�WKLV�EURFKXUH�DUH�SURGXFHG
LQ�KRXVH�DQG�GHOLYHUHG�IUR] HQ��



1 / � � � �

. UDJWZLMN�) LQHVW�) RRG�LV�D�FHUWLILHG�SURGXFHU�RI�JOXWHQ�IUHH�P HDO
VROXWLRQV��: H�KDYH�GHYHORSHG�D�EUDQG�QHZ�VHOHFWLRQ�RI�P HDOV�XQLTXH�WR
WKH�DLUOLQH�LQGXVWU\ ��: H�DUH�SURXG�WR�P HHW�WKH�KLJKHVW�VWDQGDUGV�RI�WKH
$VVRFLDWLRQ�RI�( XURSHDQ�&RHOLDF�6RFLHWLHV��$2 ( &6��DQG�WR�EH�DOORZHG�WR
XVH�WKH�LQWHUQDWLRQDOO\ �UHFRJQL] HG�´FURVVHG�JUDLQ�WUDGHP DUNµ��2 QO\ �WKH
EHVW�ZLOO�GR��$OO�SURGXFWV�DUH�DYDLODEOH�LQ�D�OX[ XU\ �P HQX�ER[ �RU�RQ�D
GLVSRVDEOH�FDUGERDUG�WUD\ �
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) ULWWDWD�ZLWK�SRWDWR��DQWL� SDVWL�DQG
FKDNFKRXND
$SSHOFRP SRWH�ZLWK�FUXP EOH
0 DULQDWHG�IUXLW
0 XIILQ��EXQ�DQG�P DUP HODGH

. * ) �� � � �� �( &2 �+2 7�' ,1 1 ( 5�
( 1 * / ,6+ �%5( $. ) $67
2 ULHQWDO�FKLFNHQ�ZLWK�YHJHWDEOH�ULFH
DQG�VDP EDO�EHDQV
&KLFNSHD�VDODG�ZLWK�URDVWHG�SHSSHUV
5HG�IUXLW�FRP SRWH
2 OLYH�WDSHQDGH
&DNH�DQG�FUDFNHUV
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6P RNHG�VDOP RQ�ZLWK�SHD�P DVK�
TXLQRD�DQG�FRUQLFKRQV
0 DULQDWHG�IUXLW
9HJDQ�FUHDP �FKHHVH
0 XIILQ��FUDFNHUV�DQG�P DUP HODGH
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0 LQL�EXQV��P DUJDULQH�DQG�FRQILWXUH
FUDQEHUU\ �FDNH
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0 LQL�SLWD�UDWDWRXLOOH�DQG�IDODIHO�

8 QGHU�WKH�VWULFW�VXSHUYLVLRQ
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